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2E23 FMd 28 ¥ O 10,300,282 10, 166,582 133,700
= 4,340,000 4,340,000 0
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Oudt o7 8 13,500 0 13,500
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= 4,340,000 4,340,000 0
| 15,000 15,000 0
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dShls 2o 243t 1,035,770 915,570 120,200
307 gIztol 125,000 80,000 45,000
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OZ3=Zs UxsH 45,000 0 45,000
308 XXM SO0IA 908,390 833,190 75,200
01 XN ELS 908,390 833,190 75,200
Os=H 25,200 0 25,200
OXHSE AE - oA SXNEH JIEAY 30,000 0 30,000
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oL 2st=d 100,000 0 100,000
OFH HLA JHAHZ3HA 20,000 0 20,000
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=R HAAE B - &5 43,668,778 40,419,213 3,249,565
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ol SR 2EAMY 2= - |4 X (St &)
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Il 0 32,732 A32,732
= 0 4,208 A4,208
308 XXM SOIA 0 36,940 36,940
Jl 0 32,732 N32,732
= 0 4,208 A4,208
01 XN BSELES 0 36,940 36,940
OXtA =L BIESAL X2 o0& 0 36,940 36,940
) 0 32,732 N32,732
== 0 4,208 N4,208
ItRA HEANY 22 - IS4 X 5,500 2,500 3,000
202 048l 3,000 0 3,000
01 SLHo4HI 3,000 0 3,000
O=IIL 2EAIY HRFA 3,000 0 3,000
XS =2 SR 2ESE A 20,000 0 20,000
308 XXM SOl 20,000 0 20,000
01 IXHMBYEXS 20,000 0 20,000
OHZXS =2 Zatmit 2E2EAMY 20,000 0 20,000
HEAX NZ=SAE 28 15,000 0 15,000
308 AHAIEMSOIE 15,000 0 15,000
01 XN BSEES 15,000 0 15,000
OB AN XS=AE 22 15,000 0 15,000
=Jt=4F OICIOIOtE OIHIE XI& 110,000 0 110,000
308 AFAIEHMSOIE 110,000 0 110,000
01 AXEH B EES 110,000 0 110,000
O=Jtz4t DICIOIOLE OIHIE X 110,000 0 110,000
SU(EHoN e 2B (E2)AHL 18,000 0 18,000
308 XXM SO0l 18,000 0 18,000
01 HASHBLSEXZ 18,000 0 18,000
ozti(aiolatd 22(82)A 18,000 0 18,000
=otRal s & WF - 82 A3 313,365 228,365 85,000
= 92,900 92,900 0
Jl 51,000 51,000 0
= 169,465 84,465 85,000
SUlAD He2l= H=X 27,000 0 27,000
308 AXIHSOIA 27,000 0 27,000
01 XN BSELES 27,000 0 27,000
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pJ 1,186,119 1,186,119 0
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408 RXI SIS RH=0| A 317,715 245,715 72,000
01 XIS K= 2% 317,715 245,715 72,000
OSZLHS B XIS 2K - HSHAIAH
= 317,715 245,715 72,000




